2009-2014 Toyota Tundra
ET389(4 ??IYL RTS80/73 TY Installation Instructions

(1) 16 = Hex head bolts (M2-1.25x30mm) Grade 8.8 I'EW Mﬂ}( ﬂl"ld DOUbIE Cabs
{2) 16— Hex head bolis (M8-1.25x 1 6mm) Grade 8.8 DI’IV&I’ S|de

(31 32 — Lock washers (M8) Gmde 8.5

{4) 48 — Flat washers (M 8) Grade 8.5 Fron‘l' [==| [= = = Hs

(5) 16 —Hex head nuts (M5-1.25) Grade 8.8
Components List:

(132 - RT Steps{ Driver & Passenger)

(2) 2 —Fromt Mounting Brackets
RTSPRO0G

(3) 6 — Middle/Rear Mounting Brackets
RTSPRO0S

COMPONENTS. | Al (3
DO NOT TIGHTEN UNTIL ALL
COMPONENTS ARE INSTALLED (1)

AND ADJUSTED.

- (1 }j
COMPONENTS AND HARDWARE
SUPPLIED BY ICI.

(3) /@f
NO SUBSTITUTIONS. RTSPN0O6 (3] 1{5]\

Step bv Step Installation Instructions

RTSPNO05

STEP 1: Read and understand instructions completely before beginning installation.
STEP 2: Remove all old steps and h> iware from truck.

STEP 3: Locate the driver's side step (center of front foot step is 18" to front of bar). Each step uses 4 mounting brackets. The bracket closest to the front of the
vehicle is shown in figure A, the other 3 brackets are shown in figre B. The brackets are not ade specific.

STEP 4: On the undersi de of the rocker panel there are 4 mounting locations down the length of the cab with 2 threaded holes per location. Usng provided (2)
hex head bolts, flat washers and lock washers, loose fit brackets to these locations.

STEP S: Once all 4 brackets are loose fit to the truck, mount the RT Step to the brackets using provided (1) hex head bolts, 2 flat washers per bolt, lock washers
and nuts. See figures A, Cand D.

STEP7: Onee RT Step is loose fit, tighten brackets to inside rocker to 20 fi/lbs (DO NOT USE IMPACT TOOLS). Next, adjust bar up/down and front/back then
ti ghten step to brackets at 30 filbs. Repeat for passenger side.



